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MEIO|E EciZ SA

1. BMEA 7|WAlY Eam SO 13], ZH)

(22l - TB)
+ B2 2G 3G 4G WiBro WiFi* s A
12.1 21 20,707 2,838 2,685 3,497 29,748
12.2 18 20,063 4,181 2,630 3,145 30,037
'12.3 16 21,627 5,525 3,037 3,695 33,900
12.4 14 21,621 7,958 2,989 3,756 36,338
12,5 14 22,165 10,578 3,102 4,100 39,958
'12.6 13 22,199 12,578 3,077 4,118 41,985
12,7 11 22,611 15,501 3,115 3,812 45,051
'12.8 11 22,770 18,035 3,275 4,078 48,169
'12.9 9 20,376 19,532 3,145 4,519 47,581
'12.10 9 21,007 21,493 3,164 4,282 49,955

* WiFi EgfEe SAAIGRI ag 2 Eajmol &, 0|®AP} HEHo=z

< ZIXR : o|sWst IR = Fol(zHy : oHH) >
-2 1218 | 1228 | M123E | 124 | M125E | 126" | M127E€ | 128F | 129 | 12.10&
2G 1,015 983 957 932 907 884 854 830 807 794
H|Z) (19.3) | (18.7) | (18.2) | (17.7) | (17.2) | (16.7) | (16.1) | (15.6) | (15.2) | (14.9)
3G 4,051 4,012 3,954 3,862 3,769 3,707 3,589 3,466 3,349 3,272
CIES) (77.0) | (76.2) | (75.0) | (73.2) | (71.3) | (69.9) | (67.6) | (65.2) | (62.9) | (61.3)
4G 196 272 360 485 610 709 866 1,024 1,172 1,270
G |§) (8.7) (5.2 (6.8) (9.2 (11.5) (13.4) (16.3) (19.2) (22.0) (23.8)
SHA| 5,262 5,267 5,271 5,279 5,287 5,300 5,309 5,320 5,328 5,335




2. 0|SHs} EHRYE EfiE (i 12, SH)
2G-3G XM= 3G AOEE 4G ADIEE (8
T g
HASHT | 17tRiet | MASHT | 17t Rt | MASHT | 17t Rt | MA ST | 17t
(TB) |=ei=l(MB)|  (TB) |=ei=|(MB) (TB) |=ei=i(MB) (TB) |=eH=i(MB)
12.1 235 9 20,493 958 2,838 1,515 23,566 470
12.2 145 6 19,936 921 4,181 1,610 24,262 483
'12.3 135 5 21,509 991 5,625 1,609 27,168 540
12.4 131 5 21,504 1,005 7,958 1,720 29,593 588
12.5 125 5 22,053 1,043 10,578 1,817 32,756 650
'12.6 119 5 22,093 1,051 12,578 1,861 34,791 688
2.7 120 5 22,502 1,100 15,501 1,876 38,124 753
'12.8 129 6 22,651 1,143 18,035 1,847 40,816 805
12.9 109 5 20,277 1,062 19,632 1,748 39,917 786
12.10 108 5 20,909 1,117 21,493 1,775 42,509 835
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(27] 12,

O ol 821 44)8 =23 @336, 46)

O

E clato| Bl EaiE Hy
Eali 49 1% 0|8} 42| 5% 0| 8=} A9 10% 0| 8%
7|2t ME[A o| =+
(TB) Egf=(TB) | HIE(%) | Ef=(TB) | H| S (%) | ESi=(TB) | HI S (%)
3G 21,627 5,255 24.3 10,759 49.7 14,507 67.1
2.3
4G 5,524 537 9.7 876 15.9 1,458 6.4
3G 22 199 5,140 232 11,008 49.6 14,979 67.5
"12.6
4G 12,578 1,113 8.8 2058 16.4 3,394 27.0
3G 20,376 4,719 23,2 10,326 50.7 14,074 69.1
"12.9
4G 19,532 1,645 8.4 3,446 17.6 5,645 28.9
O FAsHdY o4 EfE A3} (3G)
FAeydEt 22 H(3Go| €teh
7
x| st el A ")
x| E2)=(TB) 19,200 1,625 20,826
2.3
17helxied
= 1.475 201 087
=2jz(VB)
M| E24=(TB) 19,718 1,714 21,432
"12.6 P
J As
= 1,657 203 1,054
E2)=(mB)
| E24=(TB) 17,761 1,917 19,678
"12.9 e
17 NI=,
= 1,698 235 1,058
E2{=(MB)




